DELHI PUBLIC SCHOOL, BHILAI
ANNUAL EXAMINATION - 2020
SUBJECT - ENGLISH
Class : VIII Max. Marks : 80
Date : 22.02.2020 Time : 3 Hrs.

General Instructions:

Read the instructions carefully before answering the questions.
Attempt all the questions in each section before going to the next section.
All the answers must be correctly numbered and written neatly.
For multiple choice questions. Write only the answers along with the option numbers clearly.
The paper consists of four sections : A, B, C &D.
Section A —Reading (16 Marks)
Section B — Writing (18 Marks)
Section C — Grammar (16 Marks)
Section D — Literature (30 Marks)
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SECTION — A : READING (16 MARKS)
A.1 Read the passage given below and answer the questions that follow: 8 Marks
Art of Public speaking

1. At some point of time during your student life and later, you will be called upon to do a bit of public
speaking. How can you breeze through this opportunity? Here are some tips.

2. First you need to know who you are speaking to, and prepare your presentation to suit your audience. If
you are speaking to an assembly of your own age group, including a humorous anecdote on a teen issue
will really pep up the speech. You need to aim at keeping your listeners interested in what you are
saying, at all times.

3. Next, keep in mind that most people aren’t born orators. A good speaker always plans, rehearses and
practices a presentation well ahead of time. A time-tested technique is to practise in front of a mirror.
This way, you can see yourself and work on your gestures and manner of presentation to your
satisfaction. This is the first step to gaining confidence in public speaking.

4. Do not race through your presentation/speech. The act of public speaking is intended to put across a
point (or two). So speak loudly, clearly and insert appropriate pauses for a meaning to sink in. Pauses
also offer great opportunities to refresh your thoughts while you smile at the audience and catch your
breath as well.

5. If you observe good speakers you will see that they make frequent eye contact with listeners in order to
keep them involved. Just as you would greet someone by looking into the eyes, you need to look the
audience in the eye in order to convey a message of relating to them during your speech. Making eye
contact also gives an impression of confidence and knowledge.

6. Consider using a small note card to jot down your main points. Do not write out the entire speech as it is
difficult to refer to it quickly. You might end up reading from the piece of paper.

7. If you happen to be the nervous type, try positive visualization — visualize yourself giving a great
presentation. It really works. Also try deep breathing to calm the nerves. If you make a mistake, correct
yourself and carry on. One last tip-have a good night’s sleep and wake up early.

a. Why should one know the audience before speaking? (1)
b. What does a good speaker always do? (1)
c. Why do we insert appropriate pauses in a speech? (1)
d. What is the benefit of making frequent eye contact with listeners in order

to keep them involved? (1)
e. Why should the entire speech not be written on a note card? (1)
f. How can we overcome our nervousness before delivering a speech? (1)
g. Find a word from the passage (para 4) which means ‘suitable’. (1)
h. Find a word from the passage (para 5) which is the antonym of ‘irregular’. (1)
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Read the poem carefully and answer the questions that follow: 8 Marks
Indian Weavers

1. Weavers, weaving at break of day,

Why do you weave a garment so gay?
Blue as the wing of a bluebird wild,
We weave the robes of a new-born child.

2. Weavers, weaving at fall of night,

Why do you weave a garment so bright?
Like the plumes of a peacock, purple and green,
We weave the marriage-veils of a queen.

3. Weavers, weaving solemn and still,

What do you weave in the moonlight chill?
White as a feather and white as a cloud,
We weave a dead man’s funeral shroud.
- Sarojini Naidu.

a) What colour garment do the weavers weave at the break of day? (1)
b) In the first stanza, the weavers weave ? (1)
c) What makes the marriage veils look bright? (1)
d) In the third stanza, find words that show that it was cold at night? (1)
e) What is the mood of the weavers in the third stanza? (1)
f) What is the white garment used for? (1)
g) Findaword in stanza 2 which means ‘feathers’ (1)
h) Find a word in stanza 3 which means opposite of ‘moving’ (1)

B.1

SECTION — B : WRITING (18 MARKS)

It was a wonderful day for you as you got the first prize in the Inter-School Literary contest. Now it will
be published in your school magazine along with your photograph. Express your excitement through a
diary entry in about 100 words. (5)

B.2 Alibrary is a temple for all knowledge seekers. It is a store house of knowledge containing books on all

B.3

subjects. Write an article for your school magazine on the topic ‘Uses of Library’ in not more than 120

words. You are Kartik / Kritika. (5)
Write a letter to the editor of a local newspaper on the issue of lack of street lights in your area. Use
the following value points: (8)

(Too much darkness-without street lights-fast speed-poor condition of roads-many people
killed - animals also hit-thieves active at night-need for installing sodium lamps)

OR
You are Sunaina / Suresh, a student of class VIII. Your teacher has asked you to prepare a speech on
the topic: ‘Computers, The Wonder Machine’, to be delivered in the morning assembly of your school.
Taking ideas from the hints given below, write your Speech in about 150 words.

Hints : Make work easier, faster and more accurate-banking transactions-air traffic control-operation
of mechanical devices-ease of work from home-faster communication-internet-all printing jobs,
data saving etc.

SECTION - C : GRAMMAR (16 MARKS)

C.1 Fill'in the blanks with suitable prepositions: (2
a. He’s going to Canada August
(i) on (i) at (i) in (iv) towards
b. She’sgoing the bank manager’s office this morning.
(i) on (ii) besides (iii) for (iv) to
C.2 Fill in the blanks with suitable Conjunctions: (2
a. Someone pulled the chain the train came to a halt.
(i) so (ii) after (i) but (iv) none of these
b. He did not go to school he was suffering from fever.
(i) yet (il) because (iii) so (iv) none of these
C.3 Fill in the blank with the most suitable non-finite verb in the following question: (1x2=2)
a. We the children cross the road.
(i) allowed (i) took (iii) looked  (iv) let
Fill in the blank with the most suitable modal in the following question:

b.

all your wishes be fulfilled!
() might (i) may iii) can (iv) could
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C.4 Fill in the blanks with the most suitable verb in the following questions:

a. | have known her two years.
(i) for (i) since (iii) from (iv) by
b. We to Dehradun three years ago.
(i) come (i) comes (ii)) came (iv) will come

C.5 Change the following sentences from active to passive voice
a. Submit your answer sheets.

b.  Kohli will lead the cricket team in the next series.
C.6 Change the following sentences into indirect speech
a. | said to him, ‘Why don’t you work hard?’

b. Kishore says, ‘Dogs are very loyal animals.’
C.7 Write the meaning of the following idioms:
a. in the pink of health

b. silver spoon
C.8 Punctuate the following sentence:
a. Have you ever read any of the Harry potter books
Write the proverb which means the following:
b. Thereis a positive or hopeful side to every unpleasant situation.

SECTION - D : Literature (30 MARKS)

D.1 Read the following extracts and answer the questions that follow:
In this manner, from a happy yet often pensive child he grew up
to be a mild and quiet youth.

() (@ Who is the child in the above line?
(b) What kind of a youth did he grow up to be?
(c) What does the word ‘pensive’ mean?

(I No prophet durst declare;
Nor did the wisest wizard guess
What would bechance at Lyonnesse
While I should sojourn there.

a) What couldn’t the prophet declare?
b) Why did he go to Lyonnesse?
c) Write the meaning of the word ‘sojourn’.
The poetry of earth is ceasing never:
On a lone winter evening when the frost
Has wrought a silence, from the stone there shrills
The cricket’s song, in warmth increasing ever

(@  Which season is being referred to in the above lines?
(b)  Whose sound is heard from the stone?
(c) Name the poet of the above lines.

D.2 Answer any three of the following questions in about 30-40 words each:

(
(
(
()

(@) Why does the author love mountains in the lesson ‘The Summit Within’?

()

)

()

)

(1x2=2)

(1x3=3)

(1x3=3)

(1x3=3)

(2x3=6)

(b) What did the poet himself say about his thoughts and poems in ‘The Great Stone Face II’ ?

(c) Isthe poem ‘The Duck and the Kangaroo’ humorous? Give reasons.

(d) What is the significance of cobra lily in relation to the monsoon season, its beginning and end?

D.3 Answer any one of the following questions in about 75-80 words:

Why does the author refer to the guitar incident in ‘A Visit to Cambridge’?

What idea does it support?
OR
Why did Penny Baxter allow Jody to go find the fawn and raise it?

D.4  Answer any three of the following questions in about 30-40 words each:

(@) Why did King Lear go mad?
(b) What did Don John persuade Claudio to believe at the masked ball?
(c) What were Titania and Oberon quarrelling about?
(d) What made Brutus decide that Caesar must be killed?
D.5  Answer any one of the following questions in about 70 to 80 words:
What happened to the Duke of Cornwall?
OR

What did Oberon ask Puck to do that made Titania agree to his wishes?

M Ra R d ol 2ad od
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DELHI PUBLIC SCHOOL, BHILAI
ANNUAL EXAMINATION — 2020
SUBJECT - MATHEMATICS

Class : VIII ‘ Max. Marks : 80
Date : 05.02.2020 Time : 3 Hrs.

General Instructions :

All questions are compulsory.

The question paper consists of 30 questions divided into 4 sections A, B, C and D.

Section A comprises of 6 questions of 1 mark each,

Section B comprises of 6 questions of 2 marks each,

Section C comprises of 10 questions of 3 marks each and

Section D comprises of 8 questions of 4 marks each.

There is no overall choice. However, an internal choice has been provided in two questions
of 1 mark each, 2 questions of 2 marks each, four questions of 3 marks each and 3 questions

of 4 marks each. You have to attempt only one of the alternatives in all such questions.
Use of calculator is not permitted.

Q.01
Q.02
Q.03

Q.04
Q.05
Q.06

Q.07

Q.08
Q.09
Q.10

SECTION - A {1x6=06)
Solveforx: S5x—7 =13

The circumference of a circle is 220 cm. Find its diameter.
Find the value of (16)3/4.
OR
Findx in6* =1
State Play fair's axiom.
Find the volume of cylinder of height 5 cm and its radius of base is 7 cm.
Find «B. (State the property)

OR
Find £0. (State the property) ?

N LAY
SECTION-B {1x6=06)

Evaluate : (x — 7)(x + 2)
OR
Factorize : x* + 6x + 8
The diagonals of a rhombus are 12 cm and 8 cm. Find its area.
Find the mean of first ten natural numbers.

A watch was bought for ¥ 300 and sold for ¥ 366. Find the gain %.
OR ' '
Find the selling price when marked prie is ¥ 50 and discount is 12%.
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Q.11
Q.12

Q.13

Q.14

Q.15

Q.16
Q.17

Q.18

Q.19
Q.20

Q.21

Q.22

pERis

Write the product of 2v/20 X V45 in the simple form.

ABCD is a cyclic quadrilateral. 2B is 80° and 2C is 130°. Find the measure of 24 and 2D.

SECTION-C : (3x10=30)

Rationalize the denominator :

2
V5+/3

AB is a chord in a circle, with centre O, OL L AB. If AB=8 cm. and OL=3cm, find the radius of
the circle.

OR
In the given figure, find 2CBP.

A cycle is sold at a gain of 10%. Had it been sold for ¥ 50 more, the gain would have been 12%.
Find CP.

OR

Marked price of an article is ¥ 320 and it is sold at < 288, by allowing some discount. Find the
discount %.

Draw a line segment 9 cm Long and divide it into the ratio of 2:3.

A diagonal of a quadrilateral is 40 cm and the perpendiculars drawn te it from the opposite
vertices are 17 cm and 22 cm respectively. Find the area of the quadrilateral.

OR
Find the area of a triangle whose sides are 5 cm, 12 ecm and 13 cm.

The radius of a spherical balloon increases from 6 cm to 12 cm. Compare the surface area of
the balloon in the two cases.

Find the cost of digging a well, 2 m in radius and 14 m deep, at the rate of ¥ 480 per m>.

Using tallies, prepare a frequency distribution table for the following:-
“The no. of family members of 15 families are”
654,7,5,4,3,5,3,4,6,7,6,5,4

‘Ram is twice as old as Rahim. In 12 years of time, their combined ages will be six times Rahim’s
present age! What are their present ages?

OR
Ifx + i— =1/3, than provethat x3 + % =0

Factorize 4x%+8x—5
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Q.23

Q.24

Q.25

Q.26

Q.27

Q.28
Q.29

Q.30

SECTION~-D ' (8x4=32)
Solve for x
13x _ 8x
—5" + 8 = —“‘5 3

OR
Divide : 6x2+ 11x —7by3x+7

A Park is 60 m. long and 40 m. broad. In the middle of the park, there is a circular tank of radius

7m. Find the cost of turfing the remaining portion of the park at the rate of ¥ 2.50 per square
metre.

Choosing a convenient scale for frequency distribution table, draw a histogram for the following
data:

Marks 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60
Frequency 5 12 14 16 ] 6

AB and BC are two equal chords of a circle with centre 0. OL L ABand . OM L BC. OBis
joined. Prove that

(i) AOLB = OMB

(ii) OB bisects £ABC

P, Q and R are any three points on a circle. The centre of the circle is not known. How will you
find out the centre of the circle? Show by construction.
How many circular coins, each of diameter 2.5 cm and 1.4 mm in thickness should be melted to
form a cube of edge 5 cm.? Give your answer to the nearest whole number.

OR
The diameter of the base of a conical tent is 10 m and its height is 12 m. How many metres of
canvas, 2 m. wide, is required to make the tent? (take 7 = 3.14)

Simplify : 554 — 2V16 + 4 V686.

Ramesh sells two T.V. sets for T 15,840 each. On one, he gains 10% and on the other, he loses
10%. Find his total gain or loss %.

In A ABC, P, Q and R are the mid points of sides AB, AC and BC respectively.

PQ and QR are joined.

Prove that BRQP is a parallelogram and PQ= % BC.
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g-20
DELHI PUBLIC SCHOOL, BHILAI
ANNUAL EXAMINATION - 2020
SUBJECT - SCIENCE

Class : VIII
Date : 20.02.2020

Max. Marks ;: 80
Time : 3 Hrs.

General Instructions :

e There are 31 questions. All are compulsory.
e Question No. 1to 6 carry 1 mark each.

e Question No. 7 to 15 carry 2 marks each.

e Question No. 16 to 27 carry 3 marks each.

e Question No. 28 to 31 carry 5 marks each.

® There are internal choices in some questions of 2 marks, 3 marks and all questions of 5 marks.

Q.01 Why is reproduction essential? (01)
Q.02 Name the hormones secreted by following glands (i) Ovary (ii) Pancreas (01)
Q.03 Define rolling friction. (01)
Q.04 Write one difference between musical sound & noise. (01)
Q.05 What is meant by fault zone? (01)
Q.06 The sun appears to rise in east. Why? (01)
Q.07 Little amount of curd is added to warm milk to set curd for the next day, why? Explain. {02)
Q.08 Define the following terms:- (i) Carbonisation (ii) Exhaustible Sources (02)
Q.09 How is sex of unborn baby determined? Explain briefly and aiso draw a diagram. {02)
Q.10 Give reasons :- (02)
(i) Kabaddi players rub their hands with soil. (ii) Luggages are fitted with rollers.
Q.11 Define the following terms:- (02)
(a) Least distance of distinct vision {b) Lateral Inversion
Q.12 Sometimes, even though materials conduct electricity, the bulb in the circuit may not glow. Why?  (02)
OR
When the free ends of a tester are dipped into a solution, the magnetic needle shows deflection. Explain
the reason.
Q.13 Draw aray diagram showing image formation through plane mirror and label the incident ray, reflected
ray, angle of incidence and angle of reflection. (02)
' OR

Two plane mirrors are inclined at right angle as shown in figure. A ray of light is incident on the surface of 1*

mirror at an angle of 357 with mirror surface, Draw and label the reflected ray from mirror (1) and both
incident and reflected ray from mirror (2). Also determine 2i & 2 r in case of both mirrors.

Q.14 Mention any two measures which can be taken to control water pollution. (02)
Q.15 State any two differences between inner planets and outer planets. {02)
Bl OR
Write down the conditions which support life on earth. (Any 4)
Q.16 (a) Name the causative micro-organisms of following diseases - (03)
(i) Polio {ii) Rust of wheat (iii} Cholera

{b) Write any three uses of microbes on our day to day life.
Q.17 Draw a well labelled diagram of human sperm. State any one difference between zygote and foetus. (03)
" OR
Draw a labelled diagram showing budding in hydra. Define metamorphosis.
Q.18 What are the limitations related to the use of fossil fuels? (Any two). Why is petroleum called black
gold? (03)
Q.19 Write a short note on IVF. (03)
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Q.20 Givereason:
(a) Arubber sucker gets stuck to the surface when pressed on it.
(b} A porter keep a round piece of cloth on his head while carrying load.
OR ' (03)

Describe an activity to show that pressure exerted by liquid at bottom of container depends on height of
liquid column. (Draw a diagram also).

Q.21  Explain the following changes occurring at puberty:-
(a) Voice change (b) Increase in height
Q.22 (a) What are the factors on which fluid friction depends?

(b) Would it be easier or difficult to walk on a marble floor on which
Explain giving reason. '

(03)

a bucket of soapy solution is spilled?

(03)
Q.23  Explain how can you locate Sirius with the help of constellation orion? Also draw a diagram to support
your answer. ' {03)

OR
(a) Differentiate between meteors and meteorites, (Any 2 points).

(b) Identify the constellation shown in given figure and mention, in which part of the sky is this
constellation visible?

Q.24 {a) Sound of mosquito is produced when it vibrates it's wings at an average rate of 500 vibrations per sec.
What is time period of vibration?

{b} State any two causes of hearing impairment.
Q.25 Give justification for the following situations:-

(a) Earthing is provided in buildings.

{b} A charged glass rod attracts a charged plastic straw.

(c) Itis not advisable to carry an umbrella during thunderstorm.
Q.26 What are audible and inaudible sounds? Explain. Define amplitude. How does it affect loudness? {03)
Q.27 Draw a labelled diagram of an electroscope (Any 4 labellings). Write it’s one application. (03)
Q.28 (a) Differentiate between electrostatic force and gravitational force. (Any 2 points)

{b) A force of 100 N when acts over a surface, it exerts pressure equal to 0.02 Pa. Calculate the area of the
surface.

(03)
(03)

(c) Leaves and fruits fall on ground when they get detached from tree, why?
OR (05)
{a) Describe an activity to demonstrate electrostatic force by drawing a diagram.

(b) Determine the magnitude of the force which produces pressure of 4 Pa when acting on a surface of
area 50m?.

{c} Write any two effect caused by a force.
Q.29 (a) Give reasons for the following :-
(i} Chromium is electroplated on inferior metals.
(i} In case of fire, before the firemen use the water hoses, they shut off the electrical supply for the area.
{b) How is copper sulphate solution electrolised? Explain with the help of a diagram with proper labelling.

OR (a5)
{a) Write a short note on LED.

{b) A Child staying in a coastal region tests the drinking water and aiso the sea water with his tester. He
finds that compass needle deflects more in case of sea water, Explain the reason.

(c) State the chemical changes occuring when electric current is passed through a conducting
solution.(Any 3).

Q.30 (a) Explain the role of persistence of vision in watching movies.
(b) Describe construction and working of a kaleidoscope with the help of diagram.
OR {05)
(a) What is meant by luminous and illuminated objects? Give an example for each type of object.
(b) Explain myopia and hypermetropia and mention how are they corrected?
Q.31 (a) State one harmful effect of each of the foilowing:- (i) Sulphur di-oxide {if) Acid rain
(b) The increased level of nutrients in water bodies affect the survival of aquatic organisms, why?
(¢} What is meant by the term potable water? How can water be made safe for drinking? (Any two ways).

OR (05)
(a): Name any two green house gases.

(b} Write a short note on global warming.
(c) Clear, transparent water is always fit for drinking. Comment.
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DELHI PUBLIC SCHOOL, BHILAI
ANNUAL EXAMINATION - 2020
— SUBJECT - SOCIAL SCIENCE
Class : VIII Max. Marks : 80
Date : 02.03.2020 Time : 3 Hrs.

General Instructions :

» There are 31 questions. All are compulsory.

» Marks of each question are indicated against the question.

» Questions from SI.No. 1 to 14 are very short answer questions. Each question carrier 1 mark.

» Questions from SI.No. 15 to 26 are short answer questions. Each question carries 3 marks.

» Questions from SI.No. 27 to 30 are long answer questions that carry 5 marks each.

» Question 31 is based on map work. 5 marks from History and 5 marks from Geography.

» Attach the map inside the answer book.
Q.01  Who was the last Mughal Emperor of India? (01)
Q.02  Who are the Agarias? (01)
Q.03  Name the institution started by Rabindranath Tagor in 1901. (01)
Q.04 By which social reformer’s efforts was “Sati” banned? (01)
Q.05  Who was responsible for the Jallianwalla Bagh atrocities? (01)
Q.06  Who is the final interpreter of the constitution? (01)
Q.07  Name the factory in Bhopal where the world’s worst industrial tragedy took place. (01)
Q.08 Inwhich country of South America did riots break out against high prices of water? (01)
Q.09  Write the full form of FIR. (01)
Q.10  Rich deposits of which resource are found in Ruhr region of Germany? (01)
Q.11 By what name is shifting agriculture known in North East India? (01)
Q.12  Name the only iron and steel plant set up in India before independence. (01)
Q.13  What s viticulture? (01)
Q.14  Which factor of soil formation affects the rate of weathering? (01)

Q.15 What objections did the sepoys have to the new cartridges that they were asked to use?  (03)
Q.16  How did the British succeed in securing submission of the rebel land owners of Awadh?  (03)

Q.17  How do the names of different textiles tell us about their histories? (3 points) (03)
OR
Name three problems that the newly independent nation of India faced.
Q.18  What were the different reasons people had for not sending girls to school? (03)
OR

Why were the people dissatisfied with British rule in the 1870s and 1880s?

Q.19 List three reasons for land degradation. (03)
OR
Suggest any three methods for the conservation of soil.

Q.20 What is resource conservation? Why are resources distributed unevenly over the earth? (1+2=03)

Q.21  What is meant by population composition? (03)

Q.22  Mention the geographical conditions required for growth of wheat. (03)

Q.23  Explain how the police are subject to the law of land. (03)
OR

What fundamental rights are guaranteed to an arrested person under the article-22 of the
constitution and criminal law?
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Q.24
Q.25
Q.26
Q.27

Q.28

Q.29

Q.30

Q.31

What is the structure of courts in India? (03)
What do you understand by the term marginalisation? Why is it present in our country? (1+2=03)

Why do you think there are so few cases of private water supply in the world? (03)

Why did the Indian Iron Smelting industry decline in the 19" Century? (05)
OR

Why did Mahatma Gandhi want to teach children handicrafts?

What economic impact did the First World War have on India? (05)
OR

What was the role of the planning commission?

What are the advantages to foreign companies in setting up production in India? Discuss the

sources of environmental pollution with relation to (a) air (b) water. (3+2=05)
OR
What do we mean when we speak of law enforcement? Why is law enforcement so important?
Who is responsible for enforcement? (1+3+1=05)
What are the causes of uneven population in the world? (any 5 points) (05)
OR
(i) Why was Jamshedpur (Sakshi) chosen for setting up of the first Iron and Steel Plant?
(3 points). (3+2=05)

(i) Distinguish between Agro based industry and mineral based industry. (2 points)

On the given outline political map of India, locate and label any five of the following, in each
section. (05)
A (HISTORY) : a) Delhi

b) Champaran
c) Amritsar
d) Bombay

e) Sabarmati
f) Lucknow

B (GEOGRAPHY) : (a) Largest Tea producing state (05)
b) Bhilai Steel Plant

c) State with highest literacy rate

d) Least populated state

e) Largest jute producing state

f) Silicon Valley in India

A~ A~ A~ A~ A~ o~ A~ A~ A~ A~~~
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DELHI PUBLIC SCHOOL, BHILAI

ANNUAL EXAMINATION - 2020
INFORMATION AND
SUBJECT  coMMUNICATION TECHNOLOGY

Class : VIII Max. Marks : 30
Date : 14.02.2020 Time : 1Y% Hrs.
Q 1:Fill'in the blanks: (1x3=3)
a) The ------------ is an empty HTML element.

b) A computer connected to a serveriscalleda -------------
¢) Any crime committed through computer and Internet is called ------------

Q 2 : Answer the following questions in short: (2x3=6)
a) Mention any two advantages of a computer network.

b) Write names of few app development software.
c) Write any two advantages and disadvantages of the Internet.

Q 3: Answer the following questions : (3x3=9)
a) What is the difference between <td> and <tr> tags?

b) What is the difference between a LAN and a WAN?
¢) What is an app? Give two examples each of desktop apps and mobile apps.

Q 4 : Answer the following questions : (4x3=12)
a) What are the advantages and disadvantages of the bus topology.

b) Mention the popular mobile platforms with the languages they use.
¢) What is phishing? How will you protect yourself from phishing?
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